8-1-1

1-1

(E)=(D)/

0000

11 12

)

238

328




80

16

ORO00O0000005

ooooo

17

EESEEg.

BIO0OO

8-1-1

329



8-1-2

1-1
EV ES
EV  ES EV  ES
15 IO O O
(
14 15 16 17
A) 0 500,000 572,585
150,000 223.999
: 73217 50,000
""""""""""""""""""""""""""""""""" 276783 208s86|
(B) 02 02
(€)= = (B) 1,655 1,666
(D)=(A)(C) 501,655 574251
(E)=(D)/ 0 3344364 52,204.60 0
11
15 11
11
15 11

330




8-1-2

331

D000 28008,

SOO0O0OB 00O

17

OO0

000




8-1-3
()
) 1-1
)
)
15 | @ O O 0O
(
14 15 16 17
(A) 0 82 14 935
: 0
""""""""""""""""""""""""""""""""""""""" g2l T T gz
(B) 1 0.3 0.1
(C)= ><(B) 8,273 2,498 833
(D)=(A)+(C) 8,355 2,513 1,768
(E)=(D)/ 0 36.48 33.50 —
6 _
14 6
100 —
229 75
33

332



16

15

15

0000

0& 00

OEO00

micjsjuisiciniaie

oooool|:

17

8-1-3

333



8-1-4
(
) 1-1
16 M @ O O
(
14 15 16 17

0 0 4,908 2,205
"""""""""""""""""""""""""""""""""""""""""""" 07| T
"""""""""""""""""""""""""""""""""""""""""""" 3511l 2205
0.2 0.2
> (B) 1,666 1,666
6,574 3,871
(E)=(D)/ 0 0 1,643.40 —
100 500

100

334




8-1-4

335

16
17

Oooos e

O8O0

O8O0

17

BO00

OO0




8-1-5
(
) 1-1
14 @ O O 0O
(
14 15 16 17
I o S | RO N 1 I
________________________________________________________________________________________ peenneenseees
___________ @ e O
(C)= ><(B) 2,498
(D)=(A)+(C) 2,498
(E)=(D)/ 0 0 1,249.20
__________________________________________________________________________ o I
4 2 2

336



I o o o o N

ooooo

EEEESE.

17

O0dn

8-1-5

337



8-1-6

()

()
( ) (11

13 @ O O 0O

(
14 15 16 17

23 6 2 44
"""""""""""""""""""""""""""""""" < I | Y
0.1 0.1 0.1 0.2
><(B) 825 827 833 1,666
848 833 835 1,710
(E)=(D)/ — 41653 — —
0

0 2
0

30

15
( )
17

338




OO O00O00006 00

ooooo

EEEESE.

17

ool

8-1-6

339



8-1-7

1-2
770 12,320
780
12| | O O
780
0
(
14 15 16 17

®) 170,909 491,415 608,940 734,150
A 16400 seross|  seseer] 676,500]
A aas00| 204z T 22048 T 57,650
(B) 15 15 15 15
(€)= <(8) 12,369 12410 12,492 12,492
(D)=(A)+(C) 183,278 503,825 621,432 746,642
(E)=(D)/ 104135 664.68 413.46 —
146,409 461,988 585,092 676,500
780 1,097

176 758 1,503
0 0

0 0 0
32 18

16 25 35
0

0 0

340



|||||||||||||||||

723

oo oOoe o

oooool

oo

17

OBof

anof

8-1-7

341

'
||||||||||||||||||||||||||||||||||||||||||||||



8-1-8

1-2
300 3,418
1,110 50
| [ O O
1,110
50
(
14 15 16 17

(A) 136,369 142,721 245,233 346,500
A 136369 w2721 ozaesy| 346,500]
e of T of T 10581 0|
(B) 15 15 15 15
(C)= ><(B) 12,369 12,410 12,492 12,492
(D)=(A)+(C) 148,738 155,131 257,725 358,992
(E)=(D)/ 512.89 692.55 755.79 —
136,369 142,721 234,652 346,500
1,110 884

290 224 341
50 0

0 0 50
71 76

36 45 57
17 0

0 0 17

342



|||||||||||||||||

769

oo oOoe o

oooool

oo

17

OBof

anof

8-1-8

343

'
||||||||||||||||||||||||||||||||||||||||||||||



8-1-9

1-2
750 6,775
800
16 | | O O
(
14 15 16 17

(A 0 0 3,413 500
N e e 3413 500

(B) 05
(C)= ><(B) 4,164 0
(D)=(A)+(C) 7577 500
(E)=(D)/ 0 0 — —

0

0.0

0.0
0 0

0
0.2 0

0.2
0 0

0

344



|||||||||||||||||

oo oOoe o

oooool

oo

17

OBof

Ooe O

8-1-9

345

'
||||||||||||||||||||||||||||||||||||||||||||||



8-1-10

1-2
13,331
33
| [ O
0
33
(
14 15 16 17
849,024 152,927 151,244 359,422
219,500 10,000 0 84,000
E 24,693 1,125 0 9,450
T 00| e gsol 540
E- 603,931 140,636 150,355 265,432
2.00 1.50 1.50 2.00
><(B) 16,492 12,410 12,492 16,656
865,516 165,337 163,736 376,078
(E)=(D)/ 9,616.84 2,850.63 4961.70 —
499
318 0
33 66
90 58 33
84 88
80 82 84
36 44
24 32 36

346



||||||||||||||||||||||||||||||||||||||||||||||
'

8-1-10

347

oooool

oo odoe

onogon o

'
||||||||||||||||||||||||||||||||||||||||||||||

17




8-2-1

1-1
20000 20 1 1,000
16 | | O O
1 1 3 1 1
(
20,000
14 15 16 17

(A 0 0 3,780 2,594
""""""""""""""""""""""""""""" ol T o] T as0] T 2504
(B) 0.1 0.1
(C)= > (B) 833 833
(D)=(A)+(C) 4613 3427
(E)=(D)/ 0 0 461 —
7 6

-
65 85

85
1,000 2,000

1,000

348



|||||||||||||||||

oo oOoe o

oooool

oo

17

B 0O0OO

anof

8-2-1

349

'
||||||||||||||||||||||||||||||||||||||||||||||



8-2-2

1-1
16 | [ O 0O
(
14 15 16 17

(A) 0 0 1,348 1,703
A of T of 1348] 1,703]
(B) 0.1 0.1
(C)= > (B) 833 833
(D)=(A)+(C) 2180.8 2535.8
(E)=(D)/ 0 0 443 —
2 2

2
6
450 500

492

350



|||||||||||||||||

oo oOoe o

oooool

oo

17

B 0O0OO

anof

8-2-2

351

'
||||||||||||||||||||||||||||||||||||||||||||||



8-2-3

1-2
4.4ha
13 | [ O O
(
14 15 16 17

(A) 3,189,098 607,825 496,849 0

§ 1,055,000 200,000 178,000

: 18,100 14,100

; 2,118,900 387,000 298,100

: 6,000

' 9,198 2725 6,649 0

(B) 1.00 1.20 1.20

(€)= > (B) 8,246 9,928 9,994

(D)=(A)+(C) 3,197,344 617,753 506,843
(E)=(D)/ — 2.206.26 1,778.40 0

285

— 280 285

100

— 55 100

352



29

17

16

8-2-3

anof

OBof

oo

oo

oo

17

16

re-

oooool

17

353

'
||||||||||||||||||||||||||||||||||||||||||||||



8-2-4

1-2
16 | @ O O O
(
14 15 16 17
(A 0 0 1,999 2,000
e e 167 236
' 0 0 1,832 1,764
(B) 0.1 0.1
(C)= = (B) 833 833
(D)=(A)+(C) 2831.80 2832.80

(BE)=(D)/ 0 0 1.3 —
2,000 2,000

2265
2,000 2,000

2265

26 14

354



||||||||||||||||||

oo odoe

oooool

17

OBof

anof

8-2-4

355

||||||||||||||||||||||||||||||||||||||||||||||



8-2-5

(E)=(D)/

O
15
0
________________ .
0

IO O
(
14
0
_________________ :
0
26 21

356



|||||||||||||||||

43

Ooe O

OBof

oo

oo oOoe o

oooool

17

8-2-5

357

'
||||||||||||||||||||||||||||||||||||||||||||||



8-2-6

1-2
16 | O O 0O
(
14 15 16 17

(A) 0 0 8,233 6,689
A N e e 2000 2000
' 0 0 6,233 4,689
(B) 0.7 0.7
(C)= = (B) 5,830 5,830
(D)=(A)+(C) 14,063 12,519
(BE)=(D)/ 0 0 342.99 —
5,647 5,082

5,568
39 44

41

358



|||||||||||||||||

oooOoednn

oooool

oo

17

OBof

anof

8-2-6

359

'
||||||||||||||||||||||||||||||||||||||||||||||



8-2-7

1-1
16 | | O O
(
14 15 16 17

(A 0 0 733 735
A e 733|735
A of T A Y
(B) 0.1 0.1
(C)= = (B) 833 833
(D)=(A)+(C) 1,565.8 1,567.8
(BE)=(D)/ 0 0 104.39 —
2 2

1
13 15

15

360



14

20,600

5,000

8-2-7

anof

B 0O0OO

oo

oo

o onn

oooool

17

||||||||||||||||||||||||||||||||||||||||||||||

||||||||||||||||||||||||||||||||||||||||||||||

361



8-2-8

1-1
16 | IO O O
(
14 15 16 17

(A 0 0 7,570 8,724
A e s000] 872
A of T of 3s80] 7852
(B) 0.1 0.1
(C)= > (B) 833 833
(D)=(A)+(C) 8402.8 9556.8
(BE)=(D)/ 0 0 10.46 —
1,020 960

1,020
8,500 8,600

8,500
1,020 960

803
8,500 8,600

8,397

26 22

362



|||||||||||||||||

oo oOoe o

oooool

oo

17

OBof

Ooe O

8-2-8

363

'
||||||||||||||||||||||||||||||||||||||||||||||



8-3-1

3411
3413 3415
| @@ O O 0O
(
= =100
14 15 16 17
(A) 801 733 977 1,133
P T g T s T Yo I 1133]
(B) 6 6 6 6
(C)= ><(B) 49,476 49,638 49,968 49,968
(D)=(A)+(C) 50,277 50,371 50,945 51,101
(E)=(D)/ 2.65 44.66 7.60 —
7470 2,879
18,953 1,128 6,702
100 100
100 100 90
15 20

364



|||||||||||||||||

20

15

oo oOoe o

oooool

oo

17

OBof

anof

8-3-1

365

'
||||||||||||||||||||||||||||||||||||||||||||||



8-4-1
( ()
() (12
) ( )
15
16 30
18
15 | [ O O
= 354+45,724+12 623 18,701
(
14 15 16 17
(A 0 300 5,670 0
e e o serol T
(B) 0.01 0.01
(C)= =<(B) 54 54
(D)=(A)+(C) 354 5,724
(E)=(D)/ 0 353.95 5,724.31 0
"""""""""""""""""""""""""""" ) Y
1
1 1

366



|||||||||||||||||

17

oo oOoe o

oooool

oo

17

OBof

anof

8-4-1

367

'
||||||||||||||||||||||||||||||||||||||||||||||



8-4-2
()
() (12
( )
13 | [ O O
1 62 813 =13 13 25
(
__________________________________________________________________________________________ e
14 15 16 17
(A) 930,043 362,449 319,029 228,573
A 150000 25000 10000 3000
A 780043| 337440l 309020 225,573]
(B) 4.8 4.8 4.8 4.8
(C)= ><(B) 39,581 39,710 39,974 39,974
(D)=(A)+(C) 969,624 402,159 359,003 268,547
(E)=(D)/ = 48,481 36,560 32,637 —
62 62
20 11 11
""""""""""""""""""" 246 135|010 T

368



|||||||||||||||||

oo oOoe o

oooool

oo

17

OBof

Ooe O

8-4-2

369

'
||||||||||||||||||||||||||||||||||||||||||||||



8-4-3

1-2
28
15 | O O O
(
5
14 15 16 17

(A) 0 30,450 56,700 54,600
I - s6700] 54,600]
(B) 0.4 0.4 0.4
(C)= ><(B) 3,309 3,331 3,331
(D)=(A)+(C) 33,759 60,031 57,931
(E)=(D)/ 0 33,759 12,006 —
5 2

1 5
7 5

10 6

370



||||||||||||||||||||||||||||||||||||||||||||||
'

8-4-3

371

OO0o0O0o oooool

'
||||||||||||||||||||||||||||||||||||||||||||||

oo

oo

17

OBof

anof




8-4-4

| [= O
(
14 15 16 17

13,674 13,430 19,030 17,480
A 13674 13430 10030  17.480
0.21 0.23 0.31 0.30
><(B) 1,732 1,903 2,582 2,498
15,406 15,333 21,612 19,978
(E)=(D)/ 1,185 511 304 —

71

13 30 71

108

110 108 108
"""""""""""""""""" 10261 10397 T 10meal
- 1738 1763 ]

372



32W

10,500

8-4-4

anof

OBof

oo

oo

o onn

||||||||||||||||||||||||||||||||||||||||||||||

oooool

17

||||||||||||||||||||||||||||||||||||||||||||||

373



8-4-5

| [ O O
(
14 15 16 17

(A) 4197 4412 4519 3,684
T 07| a2l T s510] 3684
(B) 0.14 0.15 0.13 0.14
(C)= ><(B) 1,154 1,241 1,083 1,166
(D)=(A)+(C) 5,351 5,653 5,602 4,850
(E)=(D)/ 144.63 148.76 160.05 —
0 0 0 0
"""""""""""""""""""" 37| el T s T

2,401

2,365 2,401 2,436

374



|||||||||||||||||

oo oOoe o

oooool

oo

17

OBof

anof

8-4-5

375

'
||||||||||||||||||||||||||||||||||||||||||||||



8-4-6

| [ O O
(
14 15 16 17

(A) 9,302 9,374 8,379 10,591
[ ezl 9374l garol 10591
(B) 0.08 0.08 0.08 0.08
(€)= ><(B) 660 662 666 666
(D)=(A)+(C) 9,962 10,036 9,045 11,257
(E)=(D)/ 1,245.21 912.35 619.54 —
0 0 0 0

Km 16.6

Km 8.0 11.0 14.6

Km 134.3

Km 134.3 134.3 1344

376



|||||||||||||||||

oo oOoe o

oooool

oo

17

OBof

anof

8-4-6

377

'
||||||||||||||||||||||||||||||||||||||||||||||



8-4-7
()
() (22
( )
90
16 | O @ O O
(
14 15 16 17
______ A e S (SRS | NS ic:ie! IUURRUNRN
A i e R seso| |
e 008y ]
(C)= ><(B) 634
(D)=(A)+(C) 6,514
(E)=(D)/ 0 0 6,514 0
__________________________________________________________________________ o I
1

378



||||||||||||||||||||||||||||||||||||||||||||||
'

8-4-7

379

16

OO0o0O0o oooool

'
||||||||||||||||||||||||||||||||||||||||||||||

oo

oo

17

OBof

BIO0OO




8-5-1

1-2
13 | IO O m
1
(
14 15 16 17

(A) 154,163 145,980 147,695 139,345
A 50007| 24200 aa074] T 17.900]
A 104156| 121700 - 113621 121445,
(B) 15 15 15 15
(C)= ><(B) 12,369 12,410 12,492 12,492
(D)=(A)+(C) 166,532 158,390 160,187 151,837
(E)=(D)/ 2.04 2.00 1.93 —
64,267 81,660 101,386 112,028
81,661 79,249 82,835 85,797

81,661 79,249 82,835
1,091,258 1,120,289

765,208 1,074,752 1,175,898

380



|||||||||||||||||

25

oooOoednn

oomO0l

ooorB

17

OBof

Ooe O

8-5-1

381

'
||||||||||||||||||||||||||||||||||||||||||||||



8-5-2
(
( 2-2
(
13 | @@ O O 0O
(
T DO S
14 15 16 17
(A) 582 170 617 835
Y] ol T 617l 7 s3s
(B) 0.12 0.14 0.17 0.2
(C)= ><(B) 990 1,158 1,416 1,666
(D)=(A)+(C) 1572 1,328 2,033 2,501
(E)=(D)/ 0.76 0.38 0.76 —
19 19
8 9 11
5,000 5,000
2,081 3,538 2,691

382



|||||||||||||||||

oo oOoe o

oooool

oo

17

OBof

anof

8-5-2

383

'
||||||||||||||||||||||||||||||||||||||||||||||



8-5-3
(
( 2-2
13| | O O O
(
14 15 16 17
) 262 262 262 262
Y 262 T 262| T 26
(B) 05 05 05 05
(€)= <(8) 4123 4137 4164 4164
(D)=(A)+(©C) 4,385 4399 4,426 4,426
(E)=(D)/ / 615 240 133 —
38 38
38 38 3
3,000 3,000
713 1,830 3339

384



1

6 000 (

2

19
2,000

18

8-5-3

anof

OBof

oo

oo

BOOOO

OoxNO00l

17

||||||||||||||||||||||||||||||||||||||||||||||

385

||||||||||||||||||||||||||||||||||||||||||||||



8-5-4

4
13 | [ O O
(
( 1 1,200 =12
14 15 16 17
(A) 100,918 96,670 92,983 95,118
A 100018] ees70| o083 95,118]
(B) 5 5 5 5
(C)= ><(B) 41,230 41,365 41,640 41,640
(D)=(A)+(C) 142,148 138,035 134,623 136,758
(E)=(D)/ 12.80 11.98 12.43 —
12,000 10,000
11,107 11,522 10,830
14,400 14,400
14,400 14,400 14,400

386



||||||||||||||||||

5

5

16

BIO0OO

B 0O0OO

oo

oo

BOOOO

17

18

OoxNO00l

17

8-5-4

387

||||||||||||||||||||||||||||||||||||||||||||||



8-5-5
(
( 1-2
15
16
17 4
18
15 | [ O 0O
16
(
15 560
14 15 16 17
(A) 0 294 7,665 100
e e Y| 7665 100
(B) 0.01 0.50 0.50
(C)= >=(B) 83 4,164 4,164
(D)=(A)+(C) 377 11,829 4,264
(BE)=(D)/ 0 — 6.18 —
5,000 —
1,914
1 51 —
1 51
18

388



||||||||||||||||||||||||||||||||||||||||||||||
'

40

30

oodoson

oo oOoe o

18

389

oomO0l

'
||||||||||||||||||||||||||||||||||||||||||||||

17

anof

8-5-5




8-5-6

70
13 | O O O
(
14 15 16 17
18,020 18,356 19,395 20,156
A 18020 183s8| 19305 20,156]
1 1 1 1
><(B) 8,246 8,273 8,328 8,328
26,266 26,629 27,723 28,484
(E)=(D)/ 282.43 299.20 602.67 —
"""""""""""""""""" 18020 18356| 19395 20156
"""""""""""""""""" 3ss74| 39570l aosaal ]
T  goe0| T 10430 T se00] ]
"""""""""""""""""""" o3| T el T T el T T

390



20

500

1,000

300

8-5-6

Ooe O

OBof

oo

oo

oo

18

||||||||||||||||||||||||||||||||||||||||||||||

oooool

17

||||||||||||||||||||||||||||||||||||||||||||||

391



8-5-7

()
)
)
16 | O O O
(
""""""""""""""""""""""""""""""""""""""""" Mop T
14 15 16 17
(A) 23,639 23,886 23,938 2,130
A 23639|  23888] 23038l 2130
(B) 0.01 0.01 0.01 0.01
(€)= ><(B) 82 83 83 83
(D)=(A)+(C) 23,721 23,969 24,021 2,213
(E)=(D)/ 64.99 65.67 65.81 —
365 365
365 365 365
1,024,386 1,024,386
1,024,386 1,024,386 1,024,386
1,038,416 1,024,386
1,038,416
100 100
_ _ 100

392



)

(

8-5-7

anof

OBof

oo

oo

o onn

oooool

17

||||||||||||||||||||||||||||||||||||||||||||||

393

||||||||||||||||||||||||||||||||||||||||||||||



8-6-1

12| | O O
(
14 15 16 17
74,028 131,985 14,984 144,058
A s6s00] 20800 | 89,900
: 69,000
i 9,764
: 13,974 33,920 14,984 41,157
1.09 1.36 0.23 1.29
> (B) 8,088 11,251 1,915 10,743
83,016 143,236 16,899 154,801
(E)=(D)/ 83,016 71,618 — —
1
1 2
40 39
40 38 40

394



|||||||||||||||||

16

anof

B 0O0OO

oo

oo oOoe o

oooool

17

8-6-1

395

'
||||||||||||||||||||||||||||||||||||||||||||||



8-6-2

14 15
1.8 2.0
16 17
1 2.7
14 | [ O O
(
_____________________________________________________________________________________________________ e
14 15 16 17

(A) 106,230 161,750 87,000 72972
A 19000 T geoo| < TTTTTTITTT
E 63,700 151,300 81,200 67,700
A 23530 1es0] T seo0] 5272
(B) 143 1.67 1.36 0.65
(C)= ><(B) 11,791.8 13,815.9 11,326.1 5,413.2
(D)=(A)+(C) 118,022 175,566 98,326 78,385
(E)=(D)/ 1,909.7 1,863.8 933.8 —
m | m 105.3 88.3

m | m 61.8 94.2 105.3
(%) 74.7 100

(%) 17.7 44.6 747
(/0 7/ — 30

( /M| 7 — — —

396



|||||||||||||||||

17

17

anof

OBof

oo

oo

oo

oooool

17

8-6-2

397

'
||||||||||||||||||||||||||||||||||||||||||||||



8-7-1

1-1
16 | @@ O O 0O
(
= =100
14 15 16 17
(A 412,503 44,814 428,165 2,391,901
§ 41,800 6,200 85,750 869,773
; 28,150 6,200 18,062 582,173
; ( 0 0 78,400 750,130
: 0 0 0 0
] 342,553 32,414 245,953 189,825
(B) 9 10 16 16
(C)= > (B) 74214 82,730 133,248 133,248
(D)=(A)+(C) 486,717 127,544 561,413 2,525,149
(E)=(D)/ — — — —
100
0 0
7.2 296
3.6 40 7.2

398



|||||||||||||||||

30

43

oo oOoe o

oooool

oo

17

OBof

anof

8-7-1

399

'
||||||||||||||||||||||||||||||||||||||||||||||



